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W ptf@ = (5) —12(3) +40 (8szs-Da%xs. Ssrs-1orx = (1)

D&Y S BEDHPZ KD D & ThHd. %72, f(x)DBMEMEZTDE XD 2 Dffiz kDB &
(m, x) = Th3.

(20 0<0<2me¥5. /fER cos20 +3cosd —1 = 0% L 6 = THd. £/, HBER
logs(V/3tan 6 + 1) + logz(cos§) = % EE< L 0= Ths.

(3) 22% —ax®? —2x + a B WENRT 5 & THd. 7z, P(x) =22° —azr® —2x +a, Q) =
— 22+ Qa—1Dr+2aBLLE, IRTODED 21220 T P(x) —Q(x) > 0MNETELd5K% ad
TEDHIPA% KD D & THd.

(4) WK ABCD 23 % 4 OFIZN#EL, AB=4, BC=4V3, CD=V3DA L 94%. 2Dt ¥, ACOE
XzEKkDBE AC = ThY, DAOEX%2RkDZ L DA = Th3.




